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import scipy.linalg as linalg # SciPy Linear Algebra Library
import numpy as np

#A=np.array([[1,1,-2,-4],[1,-2,1,5],[2,-2,-1,2]])

— A=np.array([[1,1,-2],[1,-2,1],[1,-2,-1]])

b = np.array([[-4],[5],[2]])
print(A)
print(b)
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inv_A = linalg.inv(A)
print(inv_A)

np.dot(inv_A,b)

[[0.66666667 0.83333333-0.5 ]
[0.33333333 0.16666667 -0.5 ]
[O. 0.5 -0.5 11

array([[ 0.5],
[-1.5], Z
[1.51]) ‘ﬂiif
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e_A = np.hstack((A, b))

print(e_A)

print(np.column_stack((A,b)))
—_

[[11-2-4]
[1-2 15]
[1-2-1 2]]
[[11-2-4]
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P, L, U =linalg.lu(e_A) “e
P Perw?
print( P_.‘ ) \
print(P)
WA _
print("L:") \" © 'TY\ O*N\% Q
print(L)™

print("U:") U P?Dj\’

print(U)-

[f1. 1.-2.-4]
[0.-3. 3. 9.]
[0. 0.-2.-3.1]

TOHBKRITNE NS DENTETROSNET.

print("P.e_A=L.U:")
print(np.dot(P,A))
print(np.dot(L,U))
P.e_A=L.U:
[[1.1.-2.]
[1.-2. 1.]

[1.-2.-1.]]

[[1.1.-2.-4.]
[1.-2. 1. 5.]
[1.-2.-1. 2.]]
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import scipy.linalg as linalg # SciPy Linear Algebra Library
import numpy as np

—$ A =np.array([[1.0,1,-2],[1,-2,11,[1,-2,-11])
AOQ = np.array([[1.0,1,-2],[1,-2,1],[1,-2,-1]])
—7 b =np.array([[-4.0],[5],[2]])

n=3
L = np.identity(n)
T=[]
foriin range(n): #ifTH
T.append(np.identity(n))
for jin range(i+1, n):
am = A[},il/Ali,i] #fTDEFZE>T,i+11THDEBEEHI R EKDHZ
TLil[j,il=-am #i#& B D;EEITIICEREANS
L[j,i]=am H#LTMDEZE
for k in range(n):
Alj,k] -= am*A[i,k] #6ED775Z2UTMIZL TS
b[j]-=Db[i]*am ##ENIFILEHEIE
print(A)
print(b)
[[1.1.-2.]
[0.-3. 3.]
[0.0.-2.]]
[[-4.]
[9.1]
[-3.1]
toad—Ric&>THESNIEETI

print(T)

[array([[ 1., 0., 0.],
[-1., 1., 0.1,
[-1., 0., 1.]1]), array([[ 1., O., O.],
[0, 1. 0.],

[0.-1., 1.1]), array([[1., 0., 0.],
[0.,1.,0.],

[0., 0., 1.1D]
InZEEBRICTOTFIAVCEREI 2 &, UTMASRO 5N 3.

np.dot(T[1],np.dot(T[0],A0))

array([[ 1., 1.,-2.],
[0,-3. 3.1,
[0, 0.,-2.11)

RSHS5NLTM, UTMZENT B &



np.dot(L,A)

array([[ 1., 1.,-2.],
[1.,-2., 1.1,
[1.,-2,-1.1D)
TOTHNEBSNS. LAICKDIZWTINA>TWS I & EFER.
print(L)
print(A)

[[1.0.0.]
[1.1.0.]
[1.1.1.0]
1. 1.-2]
[0.-3. 3.]
[0. 0.-2.]]

BENT NLEHFBOZRIN TV,
print(b)
[[-4.]

[9.]
[-3.1]

UDHEITH S NBIRFEITIIOUTMIZ, RDED.
np.hstack((A, b))
array([[ 1., 1.,-2.,-4.],

[o0.,-3., 3, 9.1,
[o., 0.,-2,-3.11)
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A =np.array([[2,1,-2],[-2,-1,1],[2,-2,-11])
b = np.array([[-4.0],[51,[2]])

e_A = np.hstack((A, b))

print(e_A)

P, L, U= linalg.lu(e_A)

print("P:")
print(P)

print("L:") P /q

print(L) =

print("U:")

print(U) ~l+
2. 1.2-41 |100\/ 27 - -% 2 1 -2
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L3, i@%t:%ﬂ,ﬁﬂﬂﬁ%tb, TRIOHFRRICKRAT L, B5hiH(
21,91, 21, u) & DERICEVMEE 23, CnERDERITERES CBRAESNS. Th
%Y K (Jacobi)/EE MY, FREITIORABERNERNBERIC SRNTREVWESICHERATE
2. %< OBREOMETEIORRAEDI>TNS,
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# Jacobi iterative method for solving Ax=b by bob
import numpy as np
np.set_printopﬂons(precision=6, suppress=True)

bénp.array([-G,Z,-7,3])
/n=4
/" xO=np.zeros(n)
x1=np.zeros(n)

A=npaarray([[5,1,1,11,[1,3,1,11,[1,-2,-9,11,[1,3,-2,5]1) /7

forJ inrange(0, n): ‘
x1[i]=b[i]
9 for jin range(0, n):

| [ foriterin range(0, 20): f‘% N
\
1

x1[i]l=x1[i]-A[i][jT*x0[j] ‘J

“\f\ x1[i1=x1[i]+A[i][i]*xO[i] / feg -
\ x1[i1=x1[il/A[i1[i] - /
| \ for j in range(0, n): |
. X0[j]=x1[j] ! z
L print(x0) /// ’?ﬁ ]’% e VT %
- ! ’

T—>[-12 0.666667 0./77778 0.6 ]

« [-1.608889 0.607407 0.562963 0.751111]
[-1.584296 0.764938 0.54749 0.782519]
[-1.618989 0.751429 0.518705 0.676892]
[-1.589405 0.807797 0.506116 0.680422]
[-1.598867 0.800956 0.497269 0.635649]
[-1.586775 0.821983 0.492763 0.638108]
[-1.590571 0.818635 0.489707 0.621271]
[-1.585923 0.826531 0.488159 0.622816]
[-1.587501 0.824982 0.487092 0.61653 ]
[-1.585721,-0:82796 0.486563 0.617348]

0.828397 0.486009 0.615389]
0.828098 0.489878 0.614503]
0.828526 0.485817 0.614684]
0.828B398 0.485771 0.61435 ]
0.828561 0.48575 0.61443]

[-1.585748 0.828508 0.485734 0.614304]
[-1.585709 0.82857 0.485727 0.614338]
[-1.585727 0.828548 0.485721 0.61429]

£ 54 Upython(numpy) DIEEERES E B U v NBRES AN TES. LTI, Xy hh5iE->
TZEfzcode. E(by bob) &> T2 EDABRNHZEZBIFRAUTT D, numpyDindexz BE)
HIICHIBTY 2HEEAE > CRIRICEVWTVWET. T5WS0%55HED D, BIFd LS IcHnid
HixfzbpythonfEW,  FAlEEZpythonlTEIFRHTHRL T, WEWBEDHRTAELTWE
ER

# https://www.quantstart.com/articles/Jacobi-Method-in-Python-and-NumPy
from numpy import array, zeros, diag, diagflat, dot

np.set_printoptions(precision=6, suppress=True)

def jacobi(A,b,N=25,x=None):
if x is None:
x = zeros(len(A[0]))

D = diag(A)
R = A - diagflat(D)
# Iterate for N times
foriin range(N):
x = (b-dot(Rx)) /D
print(x)
return x

A =array([[5,1,1,11,[1,3,1,1],[1,-2,-9,11,[1,3,-2,511)
b = array([-6,2,-7,3])

sol = jacobi(A,b,N=10)

1.2 0.666667 0.777778 0.6 ]

1.608889 0.607407 0.562963 0.751111]
1.584296 0.764938 0.54749 0.782519]
1.618989 0.751429 0.518705 0.676892]
1.589405 0.807797 0.506116 0.680422]
1.598867 0.800956 0.497269 0.635649]
1.586775 0.821983 0.492763 0.638108]
1.590571 0.818635 0.489707 0.621271]
1.585923 0.826531 0.488159 0.622816]
1

[-
[-
[-
[-
[-
[-
[-
[-
[-
[-1.587501 0.824982 0.487092 0.61653 ]
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3w+2z+2y+z -6

3w+2z+3y+z | | 2
w—2x—3y+=z -9
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Gauss-Seidel;%=

JacobiZED 707 5 %S L CGauss-SeideliZD 7O S L&xEn

A=np.array(I[[5,1,1,1]1,I[1,3,1,11,[1,-2,-9,1],[1,3,-2,5]11)
b=np.array([-6,2,-7,3]1)
n=4

X UTEEZITV, Jacobik & IR Z AR K.
SPOHEIE AR,

[-1.2 1.066667 0.407407 0.362963]
[-1.567407 ©.932346 0.436763 0.528779]
[-1.579578 |0.871345 0.46739 0.580064]
[-1.58376  ©.845435 0.478382 0.600844]
[-1.584932 0.835236 0.482827 0.608976]



